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BMNERERFESREE - HM T EXEASEPF

Sample Paper 1

Mathematics Paper Sections A, B and C
22 A By Cfar

60 minutes
36 marks

Instructions:

* A scientific function calculator may be used. B ff Fi F} 22 REL T H 2

* The test will be taken on a computer. ¥4 7 BN _F {2

e Scratch paper is provided. $2 It FFFLL

* No marks are taken away for incorrect answers. Z45 A4~ Efég\

* You do not need to include units for any of your answers. & Z&H AN 75 B5 LA

e For Section A, each correct answer is awarded 1 mark. A E]Zﬁ}ﬁ/\ﬁﬁﬁﬁ’] ZE1 4y

e For Section B, each correct answer is awarded 2 marks. B %4> 8N 1IEMHI S 15 2
N

¢ Section A is worth 10 marks. A 343 &.43 >~ 10 43

e Section B is worth 20 marks. B #4343k 20 43

e Section C is worth 6 marks. C %{4 8404 6 43

¢ You will need to fill in multiple boxes in Section C to gain marks

Ciif 7y it ZUFAE 2 M 1 LBORF 7

Do not begin until instructed to do so.

S LIBITINT . TR



Section A

Solve 52x —3) +2x = 6x — 1 — 2(3 — 2x)
RAFES52x —3)+2x =6x—1—2(3 — 2x)

Answer

Solvex2 —x—42=0

RATEXx2—x—-42=0

Answer , Answer2

Find the volume of the following shape

KL ARBIATR

5cm

Answer



4. Find the value of x
Rtx &

N

Answer

Find the area of the following shape
SR BARZER D ER

Answer



Find the mean of the following numbers.
R FHF TR
12 14 15 11 10 10 17 21

Answer

In a bag there are 4 red balls and 8 green balls. | choose two balls at random.

Find the probability that both the balls are green.

— PMRFEFINLIIRF/\DEEIK, FHBENLMAPHEFE TR, B P IKEE R EAHTER
230
Answer

Find the sum of the square root of 36 and the cube of 3.
K368 A RS 38935 2 ]

Answer

Find the n' term of the following pattern.
oD e
17,14,11,8,5

Answer



10.
Find the value of x.

Kt x BY{E
X
5cmj
7cm
Answer
Section A: Answer grid
1. Answeris4 6. Answer is 13.75

2. Answerl is 7, Answer2 is —6
7. Answer is 0.424
Or Answerl is —6, Answer2 is 7

3. Answer is 111 8. Answer is 33

4. Answer is 69.6 9. Answeris —3n + 20

5. Answer is 52.5 10. Answer is 8.60



Section B

The diagram shows a square with sides of length 20 cm. Three quarter circles are
removed from the square.

What is the area of the shaded region?

SNEIRfR, — BN 20 cm MIEAR, A=THRAIZEE—1TNSZ—E, KBFED
ROER.

20cm

Answer

Three equations are given as

—a—b—-2c=3
2a—b+2c=0
—a+b=1

Solve them to find a, b, ¢

BrEA
—a—-b—-2c=3
2a-b+2c=0
—a+b=1

K



X \
A - D

In the diagram, the area of the shape is given as 1004/3.

If AB : BC isequalto 1 : 2 and x = 60, find the length of BC.
BN, EFMEIRRRZ 1003, EA AB: BCET 1:2, x = 60 XBCHK.,

Answer

M/@

Two similar prisms are shown, the volume of the larger prism 243 cm? and the volume of

the smaller prism is 72 cm3 .

Ift =9, what is the value of s?

ERARMEMEE., KRENEIRR243 cm?®, IVEENEIRE72cm’ . B =9,
K s B91E,

Answer



EA is parallel to CD, angle EAB = 25° and angle BCD = 155°. What is the acute
angle ABC?

E A

C D
B41: EA F17F CD, 2EAB = 25°, zBCD = 155°, K53 2ABC,

Answer

If the equation 2x(p — x) = 3 has real and equal roots, find the exact values of p.

BRGRE2x(p — x) = 3BEFNTEIR, KphUERE.

Answer , Answer2

A bag of balls contains 12 balls, 7 are red and 5 are blue. | take three balls from the bag
without putting them back.

What is the probability that there are less than two blue balls?
—MRFER12PK, MK, ATER, MRFERIZEL=T3K, 8XFHKRA
BROZE, E=TKAD>TRITEROFRESD?

Answer



10.

The line AB is a chord where A(4,7) and B(12, 3).

Find the equation of the line that passes through the centre of the circle and the
midpoint of AB.

N

53

B ’FZABNIG RN A4, T)FB(12, 3), SKIE/OHABRIFRREVELR T

2.

Answer
S -+ 2 X

An equation is given as 7= %35 + 3% #-5,y#0.

Make y the subject.
4 2 x

BixTFx, ylATE, — = + —,x#-5,y#0.
y x+5 3

KyxFxIRIER

Answer

Find the product of two numbers if their difference is 48 and the sum of their squares is
3264.

B MTERIER48, MBI FHME3264, KM TR,

Answer



Section B: Answer grid

6. Answerl is \/8, Answer?2 is —\/8

. Answeris 164.4

Or Answerl is —\/6, Answer2 is \/8

. Answer:a=—-5,b=—-4,c =3 7. Answer is 0.636
. Answer is 20 8. Answerisy =2x — 11

. . 12(x +5)
. Answeris 13.5 9. Answerisy =

x+2)(x+3)

. Answer is 50 10. Answer is 480



Section C

(3x—-8)cm
(x—4)cm

2x+1)cm

Find the area of the triangle shown. Show your working.

KE=ATHNER, TESLBEIIRE.

Equation is x2— x+ =0

X1 = : X2

Answer

Answer:

By Pythagoras’ theorem,

(x —4)? +4(x + 1)* = 3x — 8)*
Expand and simplify

x% —8x + 16 + 4x? + 8x + 4 = 9x? — 48x + 64
4x?—48x +44=0

Orx*—12x+11=0

Factorise and solve forx: (x —11)(x —=1)=0
Reject x = 1 sincex —4 <0and3x —8 <0
Sox =11

Now, base is 2(x + 1) = 24 cm, heightis (x —4) =7 cm

1
Area =5><24><7=84c1rr12



DULWICH INTERNATIONAL | SUZHOU |
HIGH SCHOOL PROGRAMME
BMNERERFESREE - HM T EXEASEPF

Sample Paper 2

Mathematics Paper Sections A, B and C
22 A By Cfar

60 minutes
36 marks

Instructions:

e A scientific function calculator may be used. Bl2g R T H 4%

e The test will be taken on a computer. #3476 B _E 5%

e Scratch paper is provided. 2t ELfH4R

e No marks are taken away for incorrect answers. Z45 A543

* You do not need to include units for any of your answers. & & 1 55 555 BALA

e For Section A, each correct answer is awarded 1 mark. A #3438 IEFNEZRE 1 4
e For Section B, each correct answer is awarded 2 marks. B 3§48/~ 1IEMHI S RE 2 4
e Section A is worth 10 marks. A §43 544 10 43

e Section B is worth 20 marks. B 43 544 20 43

e Section C is worth 6 marks. C 43 5441 6 43

¢ You will need to fill in multiple boxes in Section C to gain marks

CHilor 7 BBHE L MG T BLBOR 1350

Do not begin until instructed to do so.

U LIRS, 7 R



Section A

Solve the equation —6 + 11x = —84 + 8x — 2(3x + 6).
fRFFE —6 + 11x = —84 + 8x — 2(3x + 6).

Answer:

The quadratic equation —2x? + x — 18 = 4x — 3x? has solutions xp, x,.
What is the value of x1 + x»
TRFRE 2x2 4+ x — 18 = 4x — 3x2 D BIE x1, x5.

x1 + x2 NEEZD?

Answer:

In the diagram shown, a = 6,b = 7 and ¢ = 125.

\

o

c

(ax + b);

\>

Find the value of x. [You do NOT need to include the * symbol]
NEFTR, a=6,b=7 Flc=125.

Kx E. (FEEWMIAE ° TS

Answer:



4. Giventhatx =16,y =3 andz = 4.

Find the surface area of the shape shown.
Bilx=16,y=3Fz=4.
SRANE R ERRIRER.

Answer:

The area of a circle with circumference 28z is k.
What is the value of k?

EA—TENEKR 28z, ENEIREL~.

R k BB,

Answer:



The average height of a family of 5 is 175cm.

Four of the family members have heights of 171, 168, 181 and 177.
What is the height of the 5th member?

[You do NOT need to include the cm in your answer]

— PMREAMMRNTIEEE 175cm.
HApMURERRNSS55=Z 171,168, 181 F1177.
REAMNRERRNET S,

MRABERAFTES R "cm”]

Answer:

7. A jar contains 5 Blue balls, 9 Red balls and 13 Yellow balls.

Find, to 3 decimal places, the probability of choosing Red or Blue.

—TMEFER S TEBMNK, 9 TARRIK, Mk 13 TR,
KN — T KZBL BHERECNER, SREHI/NERE=A(L.

Answer:

8 Findthe product of the cube root of 512 and the square of 13.

R 512 B9IZG5ARH 13 BT RISRAR,

Answer:



9.

10.

Given thata = 5.1 and b = 13.8, find the value of x.

a

L

Give your answer to 3 significant figures.

MEMR, EFa=51/Mb=138, K x 8E EREHEI=UBRHRF.

Answer:

The sequence 14, 26, 38, 50, . . . has n® term pn+q.
What is the value of pg?

#7114, 26, 38,50, ... 955 n INE pn + q.

K pq BYfE.

Answer:



Section A: Answer grid

. Answeris —10 6. Answer is 178

. Answeris 3 7. Answer is 0.519
. Answeris 8 8. Answer is 1352
. Answer is 204 9. Answeris 12.8

. Answer is 196 10. Answer is 24



Section B
Solve the linear equations

—2x+2y+4z=10
4x + 3y —4z = -6
2x+3y+3z=0

to give the value of x — y + z.

fREM AR, Kt x —y+ z BE.

Answer:

The curve y = % meets the line 24y — 36x = —106 at two points.
What is the value of the positive x-coordinate where they meet?
8 y = o S 24y - 36x = ~106 FRFFA.
SRENRRLARA IERIREALIRE,

Answer:
12x + 12 m n
= , then what is the value of ?
(x + 4)(4x — 2) x+4+4x—2 en what is the value of m + n
12x + 12
i —— __m L,
x+4)@x-2) x+4 4x-2
K m+ n A,

Answer:



4. In the diagram shown, AB is parallel to DC and AD is parallel to BF.

A D

B C F

If angle AED = 95 and angle EFC = 36, what is angle ABC?

[You do NOT need to include the * symbol.]
WEFR, E%1 AB//DC, AD//BF, WIRFBAED =95 EFMMBEFC =36, KB ABC. [FEEMIAERS"]

Answer:

5. Two similar prisms are shown where the volume of the larger prism is 3750cm?, and the volume of the smaller prism is

30cm’.

A 4

If s = 30cm, what is the value of ¢?

[You do NOT need to include the cm units.]

WEFIRE R MEMERE, BRARENAIRZE 3750cm®, BV/IVERAIAFRZE 30cm?’.
P0R s = 30cm, Kt BE, [FHEEHERMNFS cm]

Answer:



6. The line segment AB is a chord with A(1, 8) and B(9, 5).
4y

X

The line that passes through the centre of the circle and the midpoint AB is given as ax + by + ¢ = 0, where a, b, ¢ are
integers and a > 0.

What is the value of ¢?

WEFRTR, %RERABRE LM%, SFrp 3R A(L, 8) A B, 5).
—ZEZNRODFABFSHNESEHTEE ax +by+c¢ =0, a,b, cEB2EEHHa > 0.
K ¢ HI1E.

Answer:

The equation 3x? + 2mx 4+ m = 0 has no real solutions.

The set of values for m satisfies p < x < gq.

What is the value of p + ¢?

EASFE3x% + 2mx + m = 0 ZETEHER, m NEVEBEZ p<x<gq, Xp+qgME.

Answer:

8. Inthe diagram shown, triangle ABC has AB = 4.7 and AC = 11.7.
A

B M C

If M is the midpoint of BC and DM is perpendicular to BC then what is the perimeter of triangle ABD?

MERMRN=FE ABC, EM AB=4.7, AC =11.7. MIRKX M EBC Y%=, B DM 5 BC EH, K=&/ ABD
K.

Answer:



9. The diagram shows a circle with centre O and radius 6.

If x = 56°, what is the length of the chord AB to 3 significant figures?
MEFTRNE, BEOZ O, F226. MR x =56°, Kk ABHKE, SLRBHIEI=UERHZF.

Answer:

10. I have 18 pens in my pencil case. There are 11 full pens and 7 empty pens.
| will choose 3 pens from my pencil case without putting them back.

What is the probability that the number of empty pens | choose is no more than 1? Give your answer to 3 decimal places.

BHOXAZEAIS XE, EH 1IXEREMN, T3XEEATNE.
BEAHERENMEN =2, REMEMERTNENT IHHRR, SERBHE/NERE=L

Answer:



Section B: Answer grid

. Answer is —5 6. Answerl is —41
. Answeris 3 7. Answeris 3

. Answer is 6 8. Answeris 164

. Answer is 49 9. Answer is 9.95

. Answeris 6 10. Answer is 0.674



Section C

70
A bag contains 5 Black balls and x Blue balls. The probability of choosing two balls at random of different colours is T

—MRFEBSTREMNIKT x NEBHIK. EXFEHHHEFRNK, AETENBRE %

Using the information given, form a quadratic equation in the form px? + gx + r = 0, where p > 0 and p, g, r are all integers
in their simplest form.

RIBABERAIMIE— Nt RAERA, px*+gx+r=0,p>0, p, g r HEREEHHN.

p= 4= F=

Solving this quadratic equation gives x =

X AR, Kt x A

Find the probability of choosing one Blue ball from the bag, giving your answer to 3 significant figures.

KREENER— MR B EBRR, SRBWHE (BN

2X S X _ o

x T —

x+5 »*+4y WA

=7 ()Lz+’lx+zo)

T —10%x + 140=0

X =108 ﬁosz— 1¥¥IgO . x= 1§
™

P(v)= 14 = 0737
19

p=7,qg=-—108, r =140
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